“Wara bles both sides ofequalsign

Wara bles bothsikles afequal sign

2x - 3 =3x+6

Yara bles both sidesofequal sign

Bx+ 2 =-2x4+23

Yaria bles both sides afequalsign

-bx o 12 = 4x +24

YWara bles both sidesofequal sign

15 + 8x = 2x +10

Yara bles both sidesofequal sign

-9 B6x=45+ 3x

Yara bles both sides afegqualsign

A45 + Sw = Tx+23

Wara bles bothsides afegqual sign

2(x +8) = -bx +64

Vara bles bot hsidesafequal sign

_5{2 + x) = 3(9 -x)

“Wara bes both sdes ofequalsign

14x + 3° =874+ 25x

Wara bhles both sidesofequal sign

bx - 43 = 16x+ 27

Yara bles both sdesofequal sign

17 - 13x=31 . bx




